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1 42, L..20 h z h/z z h z/h

3 3
2 43 P, =...=12500—0.935x1000x (0.5—0.2) P, =...=12500—0.935x1000x9.81x (0.5-0.2)

3 9 =12200 (Pa) =12.2 (kPa) = 9750 (Pa) = 9.75 (kPa)
3 44 L v _ _dv, _

3 7 o odx *odt
4 62 Q, =...=20x10%(m?/s) Q, =...=2.0x10%(m%/s)

4 1
> 100, L1 Ap=... :0.0290X1000><(1):§i52><1.062 =...=9.98(mmAq) | 4p=... =0.0290><1000Xé:§(>)<12><1'062 —...=9.97(mmAq)
6 101, L13 | PA-PA=... PA DA =
7 106 Vo VY

6.34
8 106 (6.76a) (6.77h) d
p107
9 107, L11 A A=..=0.0156 A (6.45) A =0.0159
10 107, L14 Ap=...=210x10°(Pa) Ap=...=226x10°(Pa)
L=...=210x10*x0.01=2100(W) L=...=226x10° x0.01 = 2260( W)
11 108, L11 30cmx 60cm 30mmx 60mm
6 5

12 109 0.05 0.05




13 109 100mm 0.1mm 100mm 1m 0.1mm
6 8
0.7 0.2 0.7
14 110 By the Blasius formula of Eq.(6.44), By the Nikuradse formula of Eq.(6.45),
6 3 A =0.3164Re % = 0.0157 A =0.0032+0.221Re **" =0.0160
AP =...=0.0160x ——x1.205x10? =18.9(Pa) AP = ... = 0.0160x —— x £ x1.205x10° =19.3(Pa)
0.25 025 2
sh=..=— 289 _60(m) sh=..=— 3 1 63(m)
1.205x9.81 1.205x9.81
15 111 ¢, =07, ¢,=02 =07
6 8 I 1, I 1,
PIH =| A=+, +4, |=pVv pgH =1+ 1—+ |=pVv
d 2 d 2
v =13.4(m/s), Q=0.105(m*/s) v =10.2(m/s), Q=0.080(m’/s)
Re =1.3x10° Re =1.0x10°
16 123, L.15 7 2 259 N 2074 N 7 2 S 1x 3mz2
209.0 N 259 N 207.4 N 209.0 N
17 123, L.18 7 3 0817 mis 7 3 0271 mis
18 160, L.14 9 4 075 N 9 4 075 m




